ECE-205 : Dynamical Systems

Homework #8

Due : Tuesday November 1 at the beginning of class

Exam 3, Thursday November 3

1) Chapter 7, Problem 7.9
2) Chapter 7, Problem 7.10

3) Chapter 5, Problem 5.12 (Convolution)
4) Chapter 5, Problem 5.15 (Convolution)
5) Chapter 7, Problem 7.12 (Matlab)

6) For the following transfer functions, determine both the impulse response and the unit step response.
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H(S)=52+83+25 H(S)=52+23+4

Scrambled Answers:
h(t) = %e““ sin(3t)u(t), h(t) = —e 'u(t) + e >'u(t) + 2te *u(t), h(t) = e "2u(t) —e *"*u(t),

-t 1 g _1 _9p-ti2 E -2t/3
h(t)=e cos(«/gt)u(t)+ﬁe sin(v/3t)u(t), y(t)—2u(t) 2e u(t)+2e u(t),
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y(t):zu(t)+me S|n(\/§t)u(t)—ze cos(v/3t)u(t), y(t) = e u(t) —e2u(t) —te 2u(t),
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y(t):gu(t)—%e sm(3t)u(t)—£e cos(3t)u(t)



